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EXD, 7n+2 4n+3 Tnt+4dd Int+2 F5
[2] ZEAFOBME mETrE, CO3O0BMIEm—2 m m+2&450T, Thb

DN,
(m—=2)+m+ (m+2)=3m

m I THLE0, 3m L3 DFBEHRTH A,
L7235 T, ENR2TOLEL L 3O00BBOMNIL3OBEHTH 5. (FiHE)

8] 220 3 DT 3m, 3n (m, nTER) LT5L,
3m +3n=3(m+n)

(m+n) 3BKELD, 3(m+n) L3 DEKTHS.
L7255 TC, 220 3 OFEEOHIL 3 OEHTH 5. GRS

[4] 777 DREH, 111 OB ZE FNZEN 777a, 1116 (a, bI13#E) L £,
777a — 1116 = 111 x 7a — 111 x b = 111(7a — b) = 37 x 3(7a — b)

3(7Ta — b) \ZEKLRDOT, Z1ud 37 OfFE
Ko TT717T OfEH» 5 111 OB EFIVFERIE, 9 37 TEV NG, R

(5] (1) Bi%%E 2m, &% 2n+1 (m, n 3B L35 &,
2m+(2n+1)=2(m+n)+1

m+n 3BHELD, 2(m+n)+ 1 13HFHETH 5.
L7722 T, B EFBOMIFTHTHS. EES)

(2) 2208 %E, m, n ZERELT, 2m+1, 2n+1 EERTE, TOMIE
Cm+1)+@2n+1)=2m+2n+2

=2(m+n+1)
m, n WEKETHLZLLD, m+n+1 BKETHLDOT, 2(m+n+1) 3B
Thb.
Thbb, HHEFHEOMIBHTH 5. (FEEI#)



(6] #Hed 2 2 oDFHFKE 2m+1, 2m+3 (m \3FEHK) LT25L, InsOHI,
Cm+1)+C2m+3)=4dm+4=4(m+1)

(m4+1) BEETHL25, 4m+1) 134 0EHTHS.
L7255 C, #EfiT 5 2 00HFMOMT 4 DERTH 5. GRS

(7] 3TEZE1RDHEE3m+1, 3THLE2R/LH% 3n+2 (m, n 3B &2,
Bm+1)+Bn+2)=3(m+n+1)

m4n+1IEEHRLY, 3(m+n+1) 133 DEHTH .
LW oT, 3TEHLE1HRDHE, 3TEHDLE 2H/L50HZ, 3OREKTHA.
(FLEA#E)
(8] n ZEgL L L Clifed 2 7T 20%HHUL, 2n+1, 2043, 2n+5, 2n+7, 2n+9, 2n+11,
2n+13 LFE5D.

Lo TZEOMIX
2n+1)+2n+3)+ 2n+5)+(2n+7)+ (2n+9) + (2n + 11) + (2n + 13)
=14n + 49
=72n+7)
2n+ 7T IXEHLY, LT o
EZAN
T(2n+7) =14 (n+ 1)
L7l R nt LB, Ldio T, 14 OfFRE EE SR

2
Lo THEBET 5 7T ODOFHONIZ, 7T OB TH 5714 DREBTIZ 2R\, (FLEA#)
9] AoH, +, —ofoBEZnZia, b, c(a, b, cld1T7-OEET, a0, c*0)

95,
A — B = (100a + 10b + ¢) — (100¢ + 10b + a)
=99a — 99¢c
=99(a—¢)

Eo7T, a—c 3PS, 99(a——c) 199 ODREHTH 5.
L7225, A—B 399 Of58TH 5. (P

[10] (1) &, +, —ofio¥rEnzita, b c&T5L,
100a +10b+c=99a+a+9b+b+c

=9(lla+b)+a+b+c
9(1la+b), a+b+cix, EBIZIDOEHENS, TOMILI DEHTH 5.
L7zh> T, BOME DL —DNOBDOND, 9 OEEE %D 3T 720BHRE
&, 9O TH 5. (FiI#)

(2) |, t+, —ofoEELINZINa b ckTDE, b=a+c LD,
100a + 10b + ¢ = 100a + 10(a +¢) + ¢

= 11(10a + c)
10a + c 3225, 11(10a+c) 11 OfFEBETH B, Lizh>T, AOfLE—
DREDEDOIA, +DORDOEIZE L 3 1T -0, 11 DEHTH 5.
G

3-2



[11] A% 9TEIB L, Bl m TEYIS 205,

A=9m+5

Z 2T,
A=3x3m+(3+2)
=3Bm+1)+2

BT AL, A 3TES/ZLEZDOMNE3IM+1T, ROV 2THAZLVDLNSD.
£oT, #iE3m+1, £hid2
[12] (1) BRFEDEF LY, 150 =nr +r
£o7T, r(n+1) =150
(2) r, (n+1)IFEDICHRETH L2, 1501dn+1 TEHYYND.
Thbb, n+11E150 DR TH 5.

¥72, 0Sr<n &V, r<nt+1ThHorH15,
n+1=15, 25, 30, 50, 75, 150

2F 0,
n=14, 24, 29, 49, 74, 149

(13] (1) 2 3 72DIEDOELAE 10a+b £ FT L, ANpz725EORNIZ
(10a + b) + (10b + a) = 11(a + b)

NP 13 DEBE D E SR, HIEEE ZHNT
11(a+0b) = 13k

LFREDL. HUF13O/ETHLOT, b 1I30/H. Lol 11 & 13 134K
Bad72%0oT, a+bh 13 OfFH
ZZT, 12a<9 05659 4&D), 1Sa+b=18

LoT, FME2R72TDIEa+b=13 DL EDH. ThEAhizT a, bORIE
(a, b) =(4, 9), (5, 8), (6, 7), (7, 6), (8, 5), (9, 4) D&

Lo TR EIL, 49, 58, 67, 76, 85, 94
(2) &t A7 417200, 100z +y (10299, 10 Sy <99, 2, y i
B LRES.

LoT, AN R72EE DM
(1002 + y) + (100y + z) = 1012 + 101y = 101(z + y)

CNHY 26 DREHE DT
101(z + y) = 26k (k (ZF%0)

DT, £ TAH01 & 26 138K E B2 RVDT, 14y 1E 26 DFEEL
10<2<99, 10Sy <99 £, 20 24y <198
Sfbr mT=F o +y OflIE, 26, 52, 78, 104, 130, 156, 182.

(i) z+y=260kx, FHEHTT (2, y) E

DT (16 —10+1=17).

(i) z4+y=52 DL X,

D 33 M (42 — 10 + 1 = 33).
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(i) 2 +y =78 DL &
(z, y) = (10, 68), (11,

» 59 i (68 — 10 + 1 = 59).

(iv) z+y=104 D& &
(z, y) = (10, 94), (11,

? 8518 (94 — 10 + 1 = 85).

(v) z+y=130 D& &
(z, y) = (31, 99), (32,

? 69 1 (99 — 31 + 1 = 69).

(vi) 2+ y =156 D& X
(z, y) = (57, 99), (58,

D 43 18 (99 — 57 + 1 = 43).

(vil) z+y=182 D& &
(z, y) = (83, 99), (84,

D 1718 (99 — 83+ 1 = 17).
DiE&Y, Gz iizd01F

7+ 33459+ 85+69+ 43+ 17 = 313(f8)

67), -

93), ---

98), -

98), -

98), -
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, (68,

) (947

, (99,

10)

10)

31)

57)

83)



(1] a, b ¢, d2¥HETLE, 5 THoZRNHBTNLENL, 2, 3, 4 Th D 4OO¥HIT
FNENSa+1, 5b+2, 5e+3, bd+4 LFEEN5.
INHD 4 DDOHOAN,
(5a+ 1)+ (5b+2) + (5¢ + 3) + (5d + 4) = 5a + 5b + 5¢+ 5d + 10
=5(a+b+c+d+2)
a+btc+d+23EBHETHLINS, 5la+b+c+d+2)1d5 O
L7235 C, 5 TEY YN, (FiT#e]

2] (1) M =10a+b

(2) (1) &0, M=10a+b (1000 < a <9999, 0Sb<9. 727U a, bIFEE) £ 5<
ZENTESD.
a—2b="Tn (n3%¥H) LELEL%51E, a=2b+Tn

e M=10a+b IZAT 5 &,
M =10(2b+ 7n) + b= 21b+ 70n = 7(3b+ 10n)

3b+ 10n 13K 0T, 2t 7 OfEH.
LFoTMIZ7TOBEHTHS. (REAA#)
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(1) z=—-3y—6
() a= —50+1
6
B)y=4—2z
_ S
@ a=3
(5) ¢ =2a—3b
6) b= 4c + 10
3
3V
M) h=-5
5y + 2z
(9)b=%a—3
2bc
(10) a = 3c—b
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